cadd P XERC |4 ERATL ZHWETR L - B iriss

P Rl Rl et T A 3 o
Fiu | BB | R LB Be B Kz
1 1 2 £ g #Oix 101 1 HEH2F1I01 % F
1 | 6 & g Z20% 101 2 HIEH2FI01 % F
| | 12 &g 2 Oida 101 3 BP0l % F
| | 15 | %18 =0% 101 4 HEH2F1I01 % F
| | 18 &g FOHR 101 6] BP0l F
| | 31 X R O #F 101 6 HIEH2F1I01 % F
1 1 39 4w FO* 101 T HEH2F101 % F
1 | 46 | & EO= 101 8 HIEH2F1I01 % F
| | 57 R #Ot 101 9 HIEH2F101% %
| 2 2 & g ¥ O 101 10 HEH2F1I01 % F
| 2 3 X g HEOX 101 11 HIEH2F101% %
| 2 6 & g 2Ok 101 12 HEH2F1I01 % F
| 2 T &g 20O~ 101 13 HIEH2F101% %
| 2 8 = g 1 O% 101 14 HEH2FI01 % F
| 2 9 £ g ENQ) 101 15 HIEH2F101% %
| 2 11 & g =OX 101 16 HIEH2F1I01 % F
| 2 13 X g #O#R_ 101 17 HIEH2F101% %
1 2 17 | %78 &£ O11 101 18 HIEH2F1I01 % F
| 3 3 &g O 101 19 HEH2F101% %
1 3 10 £ g EOF 101 20 HIEH2F1I01 % F
| 3 12 & g RKO% 101 21 HEH2F101% %
| 3 14 | =18 15 O 101 22 HEH2FI01 % F
1 3 48 4w O 101 23 HEH2F101% %
| 3 57 i O 101 24 HEH2F1I01 % F

F1H HT7H




cadd P XERC |4 ERATL ZHWETR L - B iriss

P Rl Rl et T A 3 o
e | RE | £R P R Kz
| 4 3 | = | -O% 102 1 | %= HwoF102% %
| 4 4 | =9 | 204 102 2 |hEmWoFI02% %
| 4 T | x| HO® 102 3 |kmuoFI02% 3
1 4 12 | %97 | #0% 102 4 G HIF102% %
| 4 13 | % | #Ox% 102 5 |%muor102% 3
| 4 15 | %9 | #Om 102 6 |&EmHFI02% %
| 4 18 | % | mO% 102 T |&ER2F102% %
| 4 19 | %% | FOF 102 8 |HmWoFI02% %
| 4 | 21 | xR | #HOK 102 9 | &EmmFI02% %
U] s [FER o | e 10 |%mmor02ss:
| 5 2 |=xw | 20% 102 11 | &2 H2F102% %
| 5 6 |xmw | =03 102 12 | %™ #oF102% %
1 5 10 | %% | #Om 102 13 | & H2F102% 3
| 5 13 | = | %0= 102 14 | &= #oF102% %
1 5 16 | = | #O= 102 15  |&m#oF102% %
| 5 17 | =% | =0Oa 102 16 |%m#oF102% %
1 5 19 | %% | mO=z 102 17 |42 H2F102% %
| 5 | 45 | 4o | #Ose 102 18 |4 #oF102% %
| 5 | 46 | 4ovE | mO® 102 19 |%m#2F102% %
| 5 53 | wu | wO= 102 20 |hmWFI02% %
Vs s [T sow | e | oo [eemeriooss
| 6 1| & | 208 | 102 22 |hmWFI02% %

F2H HT7H




cadd P XERC |4 ERATL ZHWETR L - B iriss

P Rl Rl et T A 3 o
Fis | BEL | R 2 B g Kz
1 6 2 & g TO¥F 102 23 G H2F102% %
| 6 4 &g wOE 102 24 R 2F102% %
| 6 7 & g O 102 25 G 2F102% %
1 6 8 &g HOF 102 26 R 2F102% %
| 6 10 X g #HO% 102 27 G 2F102% %
1 6 19 £ g MmOk 102 28 R 2F102% %
1 7 4 &g MO 103 1 G2 #3F103% %
1 T 9 £ g #Orf 103 2 2 #3F103% %
| 7 16 X g %O 103 3 &I 3F103% %
1 T 18 &g RO 103 4 & #3F103% %
1 7 34 | & sEQik 103 5 G 3F103% %
1 T 47 £ % HO % 103 6 2 #3F103% %
| 8 3 &g 3 O& 103 T w2 #3F103% %
1 8 7 &g RO & 103 8 2 #3F103% %
1 8 8 & g O 103 9 H2#3F103% %
1 8 9 & g #HOB 103 10 &2 #3F103% %
1 8 14 & g M Q#r 103 11 H2#3F103% %
1 8 15 & g O+ 103 12 &2 #3F103% %
1 8 22 &g F1 O 103 13 2 #3F103% %
1 8 26 & g O 103 14 G2 #3F103% %
| 8 37 & g RO 103 15 2 #3F103% %
1 8 38 & g RO 103 16 & 3F103% %
1 8 50 ] ;O % 103 17 2 #3F103% %
1 #2028 103 18 & 3F103%

FEIBH HTH




cadd P XERC |4 ERATL ZHWETR L - B iriss

P Rl Rl et T A 3 o
Fiu | BB | R LB Be B Kz
1 8 57 301 103 19 HEHIF103% %
1 #O= 103 20 w2 H3F103% %
1 O 103 21 HEHIF103% %
| T 66 | % & 3 O 103 22 HIEHIFI03% F
| + % 204 103 23 G2 H3F103% %
1 feig O 103 24 w2 H3F103% %
| | 3 &g x5 (O3 104 1 HIMIF S e s R -
| | T & g #O-= 104 2 CELE: N WA o S
| | 10 £ g HO7% 104 3 CELR: A WA S S
| | 14 | =18 730 104 4 CELE: N WA o S
1 | 22 X R EOB 104 6) CELR: N WA S S
1 2 | £ g FIO7 104 6 CELE: N WA o S
| 2 15 &g RO 104 7 CELR: N WA S S
| 2 19 | =1 % O= 104 8 CELE: N WA o S
| 3 | £ g O3 104 9 P e g -
| 3 6 & g HO 2 104 10 CELE: WA WAt S
| 3 9 &g #xOHR 104 11 P e g -
| 4 6 & g +#Orf 104 12 CELE: WA WAt S
| 4 9 &g 20% 104 13 P e g -
| 4 11 & g O 104 14 CELR: WA WAt S
| 4 17 < g MmO 104 15 P e g -
| 4 28 | =R HOR 104 16 CELR: WA WAt S
| 4 62 A;ﬁ 2Ok 104 17 P e g -
| 5 11 & g EOF 104 18 CELR: WA WAt S

F4H HTH




cadd P XERC |4 ERATL ZHWETR L - B iriss

P Rl Rl et T A 3 o
sim | BB | £R sm | AR %3
1|5 | 12 | =W | mow | 104 19 |Gmmors i -
1| 5 | 40 |4 | O3 104 20 |Bmpors gz -
1 5 41 | 4o £ O 104 21 R N WA < g S
1| 5 | 44 | 4% | z0m | 104 20 |mmmors mc -
1| 6 | 6 | =% ]| #OKk | 104 23 |Bmpors iz -
1| 6 | 9 |=2w]| #oOz 104 204 |Bmmors mcs -
1| 6 | 63 | mm | =zOx | 104 %5 |Bmpors iz -
1| 7 | 2 |aw| 2os | 104 26 |mmpmors mc -
17| 3 |aw]| *03 104 o7 |Bmpors iz -
1| 7 | 48 | €% | w0z 104 28 |mmpors mz -
Ll o8 | 1 | =w | ro® | 104 20 |Bmpors iz -
1| 8 | 12 |2w | =O® | 104 30 |mmpors mc -
| s | 13 |=ww| mos | 104 31 |Bmpors iz -
1| 8 | 30 |=w | #ow | 104 32 |mmmors mics -
1| s | 32 |=ww | #om | 104 33 |Bmpors iz -
1| 8 | 51 | 2w | mox | 104 34 |mmmors mic -
I zug | §0% 104 3% |Bmpors wiz -
1 | 6 | 30 |#m]| 20% | 105 1 |Gmdriosx:
1| 7 | 46 | 22| zo® | 105 2 |%mm4r105%2
1 %f; £O® | 105 3 |%mAAF105% 2
I pie | mO% | 105 4 |@mwdriosx:
1 HOZ | 105 5 |@mdri05% 3
I x| owor |10 6 |G mdr05%z
1|1 | 9 |aw]| #Ore | 105 7 3 R

FE5H HT7H




cadd P XERC |4 ERATL ZHWETR L - B iriss

ey || TR EX pe 5 W R R
s | A% | £R FLB A K3
1 1 59 | =# | 20 105 8 L
1 1 60 | =+ | 209 105 9 * gt B
1 2 10 | =% | =ZO% 105 10 F S g i
1 2 12 | %9 | #Opt 105 11 7 St B
1 2 65 | ~# | 0% 105 12 LR
1 3 5 | 9% | HO% 105 13 7 St B
1 3 5 | T2 | HOm 105 14 F Gt g o
1 1 21 | =9 | $0% 105 15 7 St B
1 4 62 kxad 2O 105 16 7 St B
1 5 18 | =9 | 3Opr 105 17 7 gt B
1 5 21 | =9 | §Ot 105 18 F Gt g o
1 5 23 | & | 2O# 105 19 L
1 5 AT | 4o | 2 Om 105 20 7 St B
1 5 52 | | $0% 105 21 7 gt B
1 6 5 | 0 | #EO% 105 22 L L
1 6 12 | =% | #0%= 105 23 S
1 6 14 | %9 | = QO 105 24 7 St B
1 6 17 | %% | 5O 105 25 7 gt B
1 6 54 | Bk | 20% 105 26 L
1 7 7T | %9 | HOp 105 27 7 gt B
1 7 19 | 2% | mO# 105 28 L L
1 7 20 | = | OB 105 29 7 gt B
1 7 56 £OF 105 30 L
1 7 63 EO 105 31 R
1 7 64 EO#M. 105 32 L L

F6H HT7TH




cadd P XERC |4 ERATL ZHWETR L - B iriss

e | R TR | 2% pe 5 W R R
s | A% | £R FLB A K3
1 8 10 | =9 | =03 105 33 F GAe g
1 8 18 | v | F$O# 105 34 * 5 g
1 8 19 | =% | $0O% 105 35 F Gt g o
1 8 24 | = | 3O 105 36 L
1 8 36 | % | =O% 105 37 LR
1 8 39 | % | FO# 105 38 7 St B
1 8 | 48 | fE | FOF 105 39 F g R
1 8 5 |+ | $0% 105 40 L
1 HOM 105 41 S
1 wO/H 105 42 7 gt B
1 MO 105 43 LSS
1 #O% 105 44 7 gt B
1 HOLF 105 45 R
1 MmO 105 46 7 gt B
1 2Ok 105 A7 L L
1 2 (O%R 105 48 7 gt B
1 g | BO# 105 49 F Gt g
1 4 8 | x| 204 105 50 7 gt B

FETH HT7H




